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@ @

class Main { class Main {
public static void main(String[] args) { public static void main(String[] args) {
String name = null; String name = "null";
if (name == null) { if (name == null) {
System.out.println("gHAANShTOUERFA"); System.out.println("ZEINATENTLEEA");
} else { } else {
System.out.println(name + "TEEIZBEHFLELRL"); System.out.println(name + "CEFEZEFLELE");
} }
b }
} }
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class Main {
public static void main(String[] args) {
Object num = "12500";

if (num instanceof String) {
System.out.println("ZJ&EESIE" + num + "BETT");
} else {
System.out.println("&HHFSIE" + num + "FTT");

}
¥
}
@ @
ZTE2(X12500& T4 HIFEE (125008
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textList=new ArrayList<> (Arrays. asList (“JavaScript”, “Python”, null))dD & =
JavaScript

Python

Java

import java.util.*;
class Main {

private static void showText(String text) {
// ===@§::7b\5===

// ===EIEZET===
public static void main(String[] args) {
List<String> textList = new ArraylList<>(Arrays.asList("JavaScript", "Python", null)); // ®[%
for (String text: textList) {

showText(text);
}
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class Main {
public static void main(String[] args) {
String name = null;

if (name == null) {
System.out.println("&HIAANTNTOERA");
} else {

System.out.println(name + "TREIEEHLELRE"):

b
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if (text == null) {
System.out.println("Java");

} else {
System.out.println(text);

}
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